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QUESTION 1

Which human task pattern is best suited for a single approver scenario where the role is resolved through group
membership? (Choose two.)

A. User

B. Group

C. Initiator

D. FYI

E. Management

Correct Answer: A

Explanation: Single Approver: Use this option for a single user to act on a task. If the task is assigned to a
role or group with multiple users, then one member must claim the task and act on it.

Reference: http://docs.oracle.com/cd/E28280_01/user.1111/e15175/bpmug_ws_perform_tasks.htm

QUESTION 2
Which two statements are true about using Process Player to test a process? (Choose two.)
A. All activities must be implemented for a process before you can run it with Process Player.

B. When you are running a process by using Process Player and it reaches a user task that has an associated form, you
must display the form to select the task outcome.

C. As a process runs in Process Player, the BPMN diagram is animated to show the flow through the model.

D. Before running Process Player, you must map all roles in your process to at least one user or group in your
organization.

Correct Answer: BD

QUESTION 3

Value chain models allow you to specify more details about a process area that may have been identified in an
enterprise map. Which two statements are true about how the details are specified in a value chain model? (Choose
two.)

A. A value chain model is the starting point for process decomposition in business architecture modeling.
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B. A step can be broken down into a separate value chain model to create a hierarchical group of value chain models.
C. It documents goals, objectives, and strategies for a business area.

D. A step can be linked to a BPMN process model.

E. There is typically just one value chain model for an entire organization.

Correct Answer: B

Reference: http://docs.oracle.com/middleware/1213/bpm/bp-composer- user/ ba_project_bpmcu.htm#BPMCU99994
(4.1.2)

QUESTION 4

What determines the life span of the value in a subprocess data object?
A. process

B. task

C. subprocess

D. project

Correct Answer: D

QUESTION 5

What feature would you use if you want to step through a business process just to validate the flow, rules, and forms?
A. Process Player

B. Process Simulation

C. Process Workspace

D. BPMN Debugger

Correct Answer: A
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